CB1la/SBla Microscopes

Cells are Studied Using Microscopes

1)
2)

3)
4)

5)

Microscopes use lenses to magnify images (make them look bigger).

They also increase the resolution of an image. This means they increase the detail you can see.
Resolution is how well a microscope distinguishes between fwo points that are close together.

Light microscopes were invented in the 1590s. They let us see things like nuclei and chloroplasts.
Electron microscopes were invented in the 1930s. They let us see much smaller things in more detail
like the internal structure of mitochondria. This has allowed us to have a much greater understanding of
sub-cellular structures. Only electron microscopes will let us see things as tiny as plasmids or viruses.
Transmission electron microscopes (TEMs) have a higher magnification and resolution than light

microscopes but they're not portable, they're expensive and it's a complicated process to prepare
specimens for use (which means theu can't be used to look at living tissue, unlike light microscopes).

You Need to Know How to Work With Numbers in Standard Form

1)
2)

3)

4)

Because microscopes can see such tiny objects sometimes it's useful to write numbers in standard form.

This is where you change very big or small numbers with lots of zeros into something more manageable,
e.g. 0.017 can be written 1.7 X 102

To do this you just need to  EFFNINEZR A mitochondrion is approximately 0.0025 mm long.
move the decimal point left &= Write this figure in standard form.

or right.

The number of places the
decimal point moves is then
represented by a power of
10 — this is positive if the
decimal point's moved to
the left, and negative if it's
moved to the right.

1) The first number needs to be between 1 and 10 so the MQ
decimal point needs to move after the ‘2" 0.0025

2) Count how many places the decimal point has moved 25 x 103
— this is the power of 10. Don't forget the minus sign
because the decimal point has moved right.

You can put standard form numbers into your calculator using the 'EXP* or the

'*10" button. E.g. enter 267 x 10" by pressing 2.67 then 'EXP' then 15,



CB1la/SBla Microscopes - questions

* A photo of a water flea says it is magnified by
X50. What does this mean?

A microscope has a x5 eyepiece with x5, x15
and x20 objective lenses. Calculate its three
total magnifications.

e State two advantages of using an electron

microscope to view cells, rather than a light
microscope.



CB1b/SB1b PLANT AND ANIMAL CELLS

The structure of cells can be studied using a light microscope.
Image is magnified by lens (made bigger) and the different
parts of a cell can be seen.

Plant and animal cells have some features in common:

| Animal Cell | Plant Cell

3 EXTRAS THAT ONLY
THE PLANT CELL HAS:

1) RIGID CELL WALL

2) VACUOLE

3) CHLOROPLABTS

e Cell membrane: separates the contents of the cell and its surroundings

controls the movement of substances (e.g oxygen, glucose, carbon dioxide) in and out

e Cytoplasm: where many of the cell’s chemical reactions take place and it contains many organelles (tiny

structures that carry out specific jobs)

*  Nucleus: an organelle that contains DNA (the genetic material) and controls all the activities of the cell

*  Mitochondria: organelles in which aerobic respiration (i.e respiration in the presence of oxygen) takes place

Plant cells also have some extra structures:

e Cell wall: made of tough cellulose, which supports the cell and gives it shape

e Large permanent vacuole: filled with cell sap - helps support plants by keeping cells turgid (i.e filled with

water)

e Chloroplasts: organelles that contain chlorophyll — a green substance that absorbs light energy used for

photosynthesis



CB1b/SB1b Questions — Plant and Animal Cells

What would you use to see the structure of a cell?
What part magnifies the cell?

Name the part of the cell where the chemical
reactions occur.

What is an organelle?
What does a cell membrane do?

Name three substances that move in and out of
the cell

What process happens inside mitochondria?

Name 3 extra structures that a plant cell has that
an animal cell doesn’t have. What does each
structure do?



CB1c/SBlc Specialised Cells

1) Differentiation ie the prooess by which a oell changes o beoome epecialiced for e job.

2) In most animal oelle, the ability to differentiate ie lost st an early etage, but lote of
plant oelle don't ever loge thie abilily.

3) Having speocialised celle ks important — it allows organieme o work more effiolen .

4) Moet oelle are cpecialiced to carry out a partioular job. For example:

ﬁl‘[“ — The function of eperm ie baeioally fo gef the male DNA to the female DNA during
hiead- <7El

reproduction - 8perm have |ong fails and slreamlined heads to

“Ii:l"ﬂhlil help them swim, they u-nrrl'd.n lote of miochondria fo provide them with energy,

l.-':"l _ and they have EDZYMEE in their heade to digesi 'I'hnu-uih the egg oell membrane.
w4 rekochandria 5) In mulicellular organieme, specialiced oells are grouped fogether to form fieguss
/ﬁ;}ﬁ " — groups of oelle working togather to perform a partioular function. Different

BT tiszues work fogether to form prgans. Different organe make up an organ system.

The Villi Provide a Really Big Surface Area

a vilg oy I_.-'_ .

“-r'"“» P

1) The small infestine le whers dizeohed food moleoules are cres saction of... g ! H'-.I 1 :

aheorbed out of the digeetive syetem and info the blood. i ::::Isf::::nq -“.1 |II". '.I | f

2) The ingide of the small intestine ie covered in millione of surface cels | I 3 |
and millione of finy little projectione called willl. etk ot | | ::;1' -
3) They inorease the surface area in a big way so that diszohed capilaries e,
food moleoulee are gheorbed much more quiokly into the blood. wall oF --_"';" . "1 4l

They have: 5 singls layse of surface vols.
= A very good blood eupply to assiet quick sheorplion.



CB1c/SB1c Specialised Cells questions

e List 3 specialised human cells and state their
function.

* Make a drawing of a human sperm cell and
label its parts.

* Explain why a sperm cell needs a tail but an
egg cell does not.

e Explain why it is beneficial for the exchange
surface of villi to be just one cell thick.



CB1d/SB1d Inside Bacteria

Light microscopes can magnify more than 1500 times allowing us to see
inside bacteria.

Bacteria are single-celled organisms that are much smaller than animals
or plant cells. Bacteria do not have nuclei.

In the 1930s the electron microscope was invented - this uses a beam of
electrons to magnify specimens up to about 2,000,000 times!

Electron microscopes have shown us more detail about the structure of
bacterial cells

1. Bacteria cells have two types of DNA
 Chromosomal DNA — giant loop of DNA containing most of the genetic material
e Plasmid DNA — comes in small loops and carries extra information

2. Bacteria Cells have a cell wall
* |t's different to the cell wall in plants — it is not made of cellulose, and it is more flexible
* However, it does a similar job (i.e provides support and shape)

3. Some Bacteria cells have flagella on the outside:

* These are long, whip-like structures that bacteria can use to move themselves along

Bacterial Cell Structure
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Cb1d/SB1d Questions — Inside Bacteria

What type of microscope has allowed us to see
even more detail of bacteria cells?

What are the magnifications of a light microscope
and of an electron microscope?

Name the two types of DNA a bacterium cell has
and what each types does.

Give one reason why bacteria cell walls are similar
to a plant cell wall and one reason why they are
different.

What is the name given to a ‘whip like’ structure
that can make a bacterium cell move.



CBle/SBle Enzymes and Nutrition

The chemical breakdown of food (from large insoluble molecules into small soluble molecules) depends on the
action of digestive enzymes. Different types of digestive enzymes break down the three main types of food
molecules — carbohydrates, proteins and fats. Enzymes are biological catalysts that are proteins

Carbahydrase

Digesting carbohydrates aba a2

Digestive enzymes that break down carbohydrates are called ‘carbohydrases’ R

e.g amylase in saliva. ) _
Amylase breaks starch down into sugars. The sugars can then either be absorbed S st
by the small intestine or be broken down into glucose (a ‘simple sugar’) by other

carbohydrases.

Digesting proteins
Protease enzymes break down proteins into shorter polypeptide chains and then into amino acids.
Pepsin is a protease produced in the stomach. The contents of the stomach are acidic so pepsin has an

optimum pH of around pH2 or pH3 which means pepsin works best (breaks down proteins fastest) in acidic
conditions

Some other proteases are produced by the pancreas and then released into the small intestine. The contents of
the small intestine are weakly alkaline proteases that are released into the small intestine have an optimum pH
of around pHS8.

Digesting fats

Lipases are enzymes that break down fat molecules into fatty acids and glycerol. However, fats are insoluble
and form large globules in the watery digestive juices. Large globules have a small surface area to volume ratio
and lipases would only be able to break down the fat molecules very slowly



CBle/SBle Questions on Enzymes and Nutrition

 What does carbohydrase do?

* Name the enzyme that breaks down proteins
and fats.

* Name a protease enzyme and explain what its
optimum pH is.

 Explain why the role of enzymes as catalysts in
digestion is important for life.



CB1f/SB1g Enzyme Action

Enzymes are Very Specific

1) Chemioal rescfione ueually invohee things either being split apart or joined together.
2) The gubeirate i the molecule phanged in the reaction.
3) Ewery enzyme hae an sotfive eite — the part where it joine on to ite subelrate to oatalyse the reaction.

4) Enzymee are really pioky — they ususlly only work with one eubetrate. The poeh way of eaying
thie iz that enzymee have a high epeoifioiy for their eubstrate.

5) Thie is becauee, for the enzyme to work, the subetrate hae fo fif inho the active eite. W the
eubstrate’s ehape dosent match the aotive eite’s ehape, then the reaction won't be catalyeed.
This ie palled the 'look and key' hypotheeie, beoaues the subetrate fite info the enzyme juet
like & key fite into & look.

+* produote
)

a:lzldmn unohanged after reacfion

Changes in pH or temperature can affect how the protein folds up and so can
affect the shape of the active site. If the shape of the active site changes too
much, the substrate will no longer fit neatly in it and the enzyme will no longer
catalyse the reaction. We say that the enzyme has been denatured.



CB1f/SB1g Enzyme Action Questions

What is the active site of an enzyme?

Why is the active site a different shape in
different enzymes?

What is meant by enzyme specificity?

Use the lock and key model to suggest how an
amylase enzyme catalyses the breakdown of
starch to small sugar molecules.



CB1g/ SB1h Enzyme Activity

Enzymes Like it Warm buoi Noi Too Hot

this is the optimum 1) Changing the femperature changes the rate of an
T temperature — where enzyme-oontrolled reaction.
H"{mf:;:: most 9 Like with any reaction, a higher femperature inoresses the rate
¥ gt firel. The enzymes and the subetrate move sbout more, eo
- b they're more likely to meet up and react. Buf i # gede foo hot,
gome of the bonde holding the enzyme fogether break. Thie
i makee the enzyme begome denafured — it [oees e shape and
: - the eubefrate doeen't fit the aofive eife amy more. Thie meane
Tamp. the enzyme can'i catalyee the reaction and the reaction efope.

The enzyme Ie denatured irreversibly — it won't go baok fo e normal ehape if thinge oool down again.

3) Each enzyme hae He own opfimum femperature when fhe reaction goes faefest. Thie ie the temperaturs
just before it gete oo hot and efarie fo denature. The oplimum femperaturs for the moet importand
human enzymes i sbout 37 °C — the same tempersture se our bodies. Luoky for ue.

Rate of resotion

Enzymes Like it the Right pH Too §| , optmn
LA
1) The pH aleo hee an effect on enzymes. If H'e foo high or foo low, .E
it inferferee with the bonds holding the enzyme together. Thie changes g '
the ehape of the aolive site and oan rreversibly denature the enzyme. 2 < S

2) All enzymes have an opfimum pH that they work beet af. W'e offen pH

neutral pH 7, but not alwaye. For example, pepein e an enzyme ueed fo break down proteine in the
glomaoh. W worke beet at pH 2. whioh means i'e well-euifed to the apidic conditions in the etormach.



CB1g/ SB1h Enzyme Activity Questions

e Explain why enzymes work more slowly when
the temperature is below the optimum and
also above the optimum.

e The enzyme pepsin digests proteins. Pepsin is
denatured at pH8. Explain what this means.

e Sketch a graph to show the effect of pH on the

enzyme pepsin which has an optimum pH of
2.



CB1g/ SB1h Enzyme Activity 2

Enzyme Concentration Affects the Rate of Reaction

" rabatreda lieibed
1) The more enzyme molecules thers are in a solution, the more likely a g _'”-hﬂwh
subetrate moleoule will meet up with one and join with #. 8o inoreaeing g T
the ponoendration of the enzyme inoreasee the rate of reaotion. £ ST —
2) Bud, if the amourd of rubsirate ke limied, there oomes a point when E a8 more ecfive
there are more than enough enzyme molecules o deal with all the a2 e

available eubeirate, go adding more enzyme hae no further effect. Enzyme concentrfion

Substrate Concentration Affects the Rate Up to a Point

& all netivm s ful 1) The higher the eubsirate conoentration, the faeter the reaction —
=E m—— it'e more likely the enzyme will meet up and react with a eubetrate molsouls.
] { 2) Thie iz only frue up o a point though. After that, there are eo many eubeirate
] ra u‘:ﬁm molecules that the enzymee have about se rmuch ae they oan cope with
E /m:hu.hn wn available (all the sotive eites are full), and adding more makee no differenoe.

el

Buhutrate concentrtion



CB1g/ SB1h Enzyme Activity 2
Questions

e Explain the effect of substrate concentration
and the rate of an enzyme controlled reaction.

 Draw a graph to show how substrate
concentration affects the rate of an enzyme
controlled reaction.

e Give 2 things that you could measure when
investigating the rate of an enzyme controlled
reaction.



CB1h/SB1i Transporting Substances.

Diffusion is the Movement of Parlicles from Higher to Lower Concentration |

1) Diffueion e gimple. e just the gradual movement of particles from places where there are lote
of them to places whees there are fewer of therm. That's all # ie — juet the nalunal Inrrl:lannu for
b PEREAA A ndng I

P
gfuff fo epread out. Here's the fanoy definition:
Diffusion ke the net (oversll) movement of parficles from an _-m-:-’hlghnmmuunm
area of higher concentration to an area of lowsr concentration. - 0 area of e concenlration
't"‘ﬂ'dtl'l"'i'-rm-.-dmm
TR gy I j=
Y

2) Diffueion happene in both lquide and gaeee — that's becaues
the parficles in these substanoes are free to move sbout randomly.

Active Transport is the Opposite of Diffusion
Active traneport le the movement of partioles soroes 8 membrane againet 8 conoentration gradient
(l.e. from an area of jowst to an ares of higher conpentrafion) using ATP released during reepirafion.

Osmosis is a Special Case of Diffusion, That’s All

Osmosie Is the net movement of water molsoules soross a partially permeable membrane
from a region of higher weter conpantration fo a reglon of lowse waler conoendration.

LR RRFRNEEEY




CB1h/ /SB1i Transporting Substances Questions

e Define the 3 terms diffusion, active transport
and osmosis.

e Adish of perfume is put at the front of a lab.
Explain why the smell spreads.

e Explain why a slice of potato will decrease in
mass if it is placed in a concentration sugar
solution.



CB2a/SB2a Mitosis

Mitosis: All human body cells (i.e all cells except sperm and egg cells) contain two sets
of 23 chromosomes (=46 in total) in their nucleus. One set of 23 chromosomes comes
from the father and the other set of 23 chromosomes comes from the mother . The
human body cells contain two copies of each chromosome = ‘diploid’

To make more cells during growth and/or to repair damaged cells, body cells divide by
a process called mitosis:

1. Chromosomes first make copies of themselves - DNA replication
2. The copies of the chromosomes separate and the cell divides

3. This division produces two daughter cells, which are diploid and genetically
identical.

¢ Note: n = 23 chromosomes in nucleus...»2n =46 , 4n =92

nucleus
T‘»:d loid
[NA chromozomes
) .

pair of chromosomes

Diploid cell has 46 chromosomes—>2n

1% stage: diploid cell replicates>46x2 = 92 chromosomes—>4n

2" stage: chromosomes separate but no further division occurs->still 4n
3" stage: cell divides to form two diploid daughter cells, each containing
46 chromosomes (2n)

O O OO



CB2a/SB2a Questions on Mitosis

How many pairs of chromosomes does every
human cell contain?

What two processes occur by mitosis?
What do diploid and haploid mean?
Describe the 3 stages of mitosis.



CB2a/SB2a Mitosis 2

Asexual reproduction (A means without)

 As well as in growth and repair, cell division by mitosis also occurs in
asexual reproduction. Asexual reproduction is when organisms
reproduce by themselves (i.e. without a partner)

e Bacterial cells often reproduce asexually by splitting in half
e Some plants can also reproduce asexually

Sexual reproduction: SHE@e@@EE

o Sex cells (i.e. sperm cells and egg cells) are called ‘gametes’ which
are different to body cells as they only contain one set of
chromosomes in their nucleus (so have a total of 23 chromosomes).

Gametes are haploid cells — they have half the number of
chromosomes.

e When a sperm cell fertilises an egg cell, the gametes fuse to
produce a diploid body cell (d for double -with 46 chromosomes —
two sets of 23) called the zygote.

 The zygote develops into a ball of cells called the embryo, which
then develops to form a new individual



CB2a/SB2a Mitosis Questions

What does asexual mean?

Name three processes that use mitosis

Give two organisms that reproduce asexually
What is the collective name for sex cells?
Gametes are haploid ...explain

Zygotes are diploid....explain
What is the common name for a zygote?



CB2b/SB2b/Growth in Animals

Growth is an increase in size, length or mass.

Percentiles can be used to compare a certain characteristic (e.g mass) against the total population
The 20t percentile indicates that 20% of the data points are the same or lower than this value
The 50t percentile indicates that 50% of the data points are the same or lower than this value
and the 50t percentile is the median value of the sample

New Cells are Needed for Growth and Repair

The oelle of your body dhide fo produce more cslls, o your body can grow and replace damaged oells.
Celle grow and divide over and over again — thie ie called the cell oyole. Of couree, cell division doeen't

juet happen in humane — animale and plante do # foo.

Growth in animals also involves cell division but unlike plants, animals stop growing
when they become adults
In an animal, cells that can differentiate to form many different types of specialised
cells are called stem cells:
Embryonic stem cells can differentiate and form almost any type of cell in the
body
However, adult stem cells can only develop into a limited range of cells. This is why
most animals can’t re-grow a damaged limb or body part, but plants can grow new
shoots, roots and leaves.



CB2b/SB2b/Growth in Animals Questions

Define growth.
What would the 40 percentile line mean?

Suggest how you could measure the growth of
a kitten. Explain your answer.

Your mass increases when you take in food
and drink. Is this an example of growth?
Explain your answer.

Explain why percentile curves are used to
measure the growth of babies.



CB2c/SB2c Growth In Plants

Plants have special areas called ‘meristems’ found on the tips of roots and shoots — these are the
sites of plant growth

Stages in Plant Growth

Cell division: cells in meristems keep dividing constantly (each division doubles the number of
cells)

Elongation: once the cells have divided, they get longer — this is called ‘elongation’

Differentiation: as a plant continues to grow, the older meristem cells start to develop into
specialised cells — this process is called ‘differentiation’. A meristem can differentiate (develop)
into any type of plant cell (so they’re like the equivalent of embryonic stem cells in animals) e.g. a
meristem cell in the root can develop into a specialised root hair cell.

Meristems Contain Plant Stem Cells

1) Inplande, the only oelle that divide by mitosis are found in plant fieeues oalled meretemes.
2) Merietem tiesue is found in the areae of a plant thet are growing — euch as the roode and shoofe.

3) Moerieteme produce unepeoisliced oells that are able to divide and form any oell fype in the plant

— they aof like smbryonio stem cells. But unlike human efem celle, these oells can divide fo
geneeate any fype of cell for as long ae the pland livee.

4) The ungpecialised pells oan beoome gpecialised and form figgues lke xylem and phioem




CB2c/SB2c Growth In Plants Questions

e In plants what is a meristem?
* Name the three stages in plant growth.

 How is growth in animals different from
growth in plants?

e Explain why plants can grow new shoots but
animals can’t grow new limbs?



CB2d/SB2d Stem Cells

Stem cells are cells that have not specialised yet. There are two types of stem cells: :Embryonic stem cells — these can develop
into nearly all types of cells and adult stem cells - these can develop into only a few types of cells

The ability of embryonic stem cells (in particular) to develop into lots of different types of cells means they could be used to
treat many medical problemes...

Two steps: 1. Embryonic stem cells first need to be extracted (see below for problems associated with this) 2. They are then
put wherever in the body they are needed so that they can develop into the appropriate specialised cell

General risks of using stem cells:

—  If stem cells are put into the body, they could produce the wrong kind of cells or even create cancer cells therefore more research is
needed to make sure stem cells are safe

—  People may try to use embryonic stem cells to produce human clones — this is illegal

Problems associated with extracting embryonic stem cells

One way of extracting embryonic stem cells is to use leftover embryos created for couples having fertility treatment however,
extracting the embryonic stem cells kills the embryo. This is controversial because some people think that because embryos
go on to develop into people, destroying embryos is the same as murder

Two ways scientists are trying to solve this issue: 1. Use adult stem cells to make cloned embryos - the embryonic stem cells
could then be extracted from the clones without any natural embryos having to be killed 2. Turn specialised body cells into
stem cells by reprogramming them — if this works, it will help to completely avoid the ethical problem of using embryos

Treating leukaemia:

Due to the ethical issues associated with extracting embryonic stem cells, most established methods use adult stem cells,
which are easier to extract

e.g adult stem cells are used in bone marrow transplants to treat leukaemia (a cancer of white blood vessels)
Adult stem cells can’t develop into as many different types of cells so the number of diseases they can treat is limited.



CB2d/SB2d Stem Cells Questions

What are stem cells?
What two types of stem cells are there?

Describe the two steps to turn a stem cell into
a specialised cell.

What risks are there for using stem cells?

What problems are associated with extracting
stem cells?

Give two ways that scientists are trying to
solve the problems above.



CB2e/SB2g The Nervous System

. Electrical impulses travel along bundles of nerves called neurones

J There are three different types of neurones:
Sensory neurone (fig. B below) carries signals from receptor cells to the central nervous system

Relay neurone B oo
Motor neurone (fig. A below) carries signals from central nervous system to effectors _7/,:"’]
e P )
fhte ‘% km:::.:."z,“;?:;n_?;(’
Neurotransmission — how impulses travel along neurones ) O 1?45:3_‘, (v o oms
»  Dendrites receive impulses from receptor cells or other neurones g uming
. Impulses move along the dendron, past the cell body and to the axon

. When impulses reach axon endings (‘terminals’), chemicals called neurotransmitters are released across the gap (‘synapse’)
. This causes the electrical impulse to be passed on to other neurones

. Many neurones have a fatty layer surrounding the axon — this is called the myelin sheath and it helps to insulate the axon
from surrounding tissue causing impulses to travel faster.

Responding to stimuli (co-ordinated/conscious responses)
. Sense organs in the body contain ‘receptor cells’, which detect stimuli. Anything the body is sensitive to is called a stimulus.

. When a stimulus is detected, receptor cells create electrical signals — called impulses — which travel along sensory neurones
(Fig.B) in the spinal cord to the brain (‘central nervous system’ — CNS)
B

I/ES\I /, skin tissue
‘ has receptor
a A ( p
NS x'\ }é\( i/r(f‘f;' J cells that
i;:‘;—;/‘ = Sy e W S Qlﬂhr\%% I respond to
Fu NS ,“ stimuli)

. Brain processes the information and electrical impulses are then sent along motor neurones (Fig.A) to effectors (e.g muscles,
glands), which carry out the response

A _ muscle tissue

<% N v m(the'effector’

IR g )
CNS :%i @ (—l [=2F4 X I eXT X X - \"{J
Z 2/ N e



CB2e/SB2g Questions The Nervous System

e What is a neurone?

* How many types of neurone are there and
what do they do?

 Where do dendrites receive impulses from?

e How do impulses travel across the gaps
between nerve endings — synapses?

 What is the myelin sheath and how does it
speed up the impulse?



CBZf/SBZI Neurotransmission Speeds

Reflex actions are responses that are automatic, extremely quick and
protect the body from injury (e.g. moving flnger away from hot object
prevents burning)

Reflexes use neurone pathways called reflex arcs:

Receptor cells detect the stimulus (e.g. hot object) and cause electrical
impulses to travel along a sensory neurone

Sensory neurone synapses with a relay neurone in the spinal cord
Impulse then travels from a relay neurone to a motor neurone
Motor neurone carries impulse to the effector (muscle or glands)
Muscle contracts and finger is pulled away from the hot object

Reflex arcs don’t pass by the brain (only pass by the spinal cord) so reflex

responses don’t require conscious thought.

Reflex responses are quicker than coordinated responses (e.g kicking of a

football...or...shivering), which instead do involve conscious thought

Spinal cord
(CNS) /I"u-l{.-ssalg{: 1o brain

SEnsory neuren Relay nauron

o Motor
Receptors = Heat/Pain neuron =
I'E'le‘p"i}l'i in Sltll'l

—— Effector = Muscle in arm


http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwiz0cemy_nLAhUI6RQKHUBiDg8QjRwIBw&url=http://www.meritnation.com/ask-answer/question/draw-a-flowchart-of-howing-different-part-in-reflex-arc-when/control-and-coordination/8308565&bvm=bv.118443451,d.d24&psig=AFQjCNECoPC7JNds9Ex2PnKCEQo6WpREMQ&ust=1460017518130697

CB2f/SB2i Neurotransmission Speeds
Questions

What is a reflex response and how is it
different from a normal response?

Explain which part of the central nervous
system is missed out during a reflex response.

What are the two types of effector?

Give two examples of where a reflex response
would be needed.



CB3a/SB3b Meiosis

Meiosis is the form of cell division needed to make gametes.
1.  First step is DNA replication (this first step is the same as in mitosis)

2. Thisis followed by two cell divisions - i.e the cell is first divided into two and
then divided again into four

3.  This produces 4 haploid daughter cells, each containing one set of (23)
chromosomes

Meiosis is the form of cell division needed
to make gametes.
1.  First step is DNA replication (this first

step is the same as in mitosis) 2n 4n

2. This s followed by two cell divisions - B -
i.e the cell is first divided into two and ‘; -
then divided again into four pair of chusTmosomes -

3.  This produces 4 haploid daughter cells,
each containing one set of (23)
chromosomes



CB3a/SB3b Questions on Meiosis

What is meiosis?

What is first step of meiosis?

How many cell divisions follow?
Why is this different from mitosis?

If you start with one cell, after meiosis how many
daughter cells are there?

Is the daughter cell haploid or diploid?
Why are the daughter cells genetically different?



Chromosomes
Inside nuclei (plural of ‘nucleus’) chromosomes contain the genetic material made of DNA

CB3b/SB3c DNA

/== = Adenine

B2 = Thymine

Sections of DNA are called genes: e
B = Guanine
— Each gene codes (i.e. carries instructions) for a specific protein
— Often, genes work together to produce what is needed for a particular feature: 1= Phasphate

backbone

e.g. eye colour is determined by lots of different proteins that are coded by
several different genes

The structure of DNA:

A DNA molecule consists of two strands that are coiled together to form a spiral known as a
‘double helix’

The two strands of DNA are linked together at regular intervals by chemicals called ‘bases’
Bases always pair up in the same way because they have complementary (i.e matching) shapes:
— Adenine (A) always pairs with thymine (T)
— Guanine (G) always pairs with cytosine (C)
— The matching bases are known as ‘complementary base pairs’
Base pairs are joined together by weak hydrogen bonds

The order of the bases in DNA (i.e the ‘DNA sequence’) determines the proteins that are made in
the body

We each have a slightly different order of bases in our DNA/genes as all of us are made from
slightly different proteins — this is what makes us all different



CB3b/SB3c Questions — DNA

Name the organelle found in a nucleus that
contains the genetic material.

What is a gene?

What does ‘a gene codes for’ mean?
What does a double helix look like?
How are the strands held together?

Which bases pair up? Why are they
complementary?

What type of bonding holds the bases together?
What is the ‘DNA sequence?’ Why is it important?
Why are we all different?




CB3c / SB3g Alleles

Animal cells have a cell membrane, cytoplasm and a nucleus
Inside the nucleus are long strands of a substance called DNA

Each strand of DNA forms a structure called a chromosome and human body cells
contain 23 pairs of chromosomes (=46 in total) in their nuclei.

Each chromosome carries a large number of genes

Each gene does a particular job. Many genes control variations in our
characteristics e.g. how we look. Other genes contain information about how
likely we are to get certain diseases.

Variation caused by genes is called inherited variation because genes are
inherited from our parents

Alleles

There are two copies of every chromosome (23 pairs) in a body cell nucleus so
there are two copies of every gene

These gene pairs may contain slightly different instructions for the same
characteristic e.g. may code for brown eye colour instead of for blue eye colour

These different forms of the same gene are called alleles.

Each of us can inherit a different set of alleles from our parents which gives each
of us slightly different characteristics (this explains why twins can sometimes be
very different).

Dad Mum

B B
2 - Recessive alleles
BB Bb Bb (bb)



CB3c/SB3g Questions on Alleles

Give three features of animal cells.
Where is the DNA found in an animal cell?

How many pairs of chromosomes does each
human body cell have?

W
W
W
W

nat do chromosomes carry?
nat do they control?
nat is an allele?

ny do we have slightly different characteristics

from our parents?



CB3c/SB3g Alleles 2

Plants and animal cells produce gametes (sex cells). Male gametes — sperm in animals, pollen grains in plants.
Female gametes — egg cells in both animals and plants

Gametes are different from other body cells because they only have one copy of each chromosome (i.e. 23
chromosomes in their nucleus not 46). Gametes only have one allele for each gene.

In sexual reproduction the male and female gametes fuse together and the organism formed has 46 chromosomes
(23 pairs) in their body cells, with two alleles for each gene (one from the male parent, one from the female
parent).

Inheritance Terminology

Dominant alleles - have an effect even if there is just one copy of it. A dominant characteristic is seen even if just
one allele is dominant

Recessive alleles - need to be present as a pair to have an effect. A recessive characteristic is only seen if both
alleles are recessive

This can be shown by drawing a punnett square (see below):
— A dominantallele is shown by a capital letter (e.g. T)
—  The recessive allele has the lower case version of the same letter (e.g. if dominant allele is ‘T, then recessive allele is ‘t’)

The alleles in an organism are its genotype
What an organism looks like is its phenotype
If both alleles in an organism are the same, the organism is

homozygous (e.g. TT)

If the alleles are different, the organism is heterozygous (e.g. Tt)



CB3c/SB3g Alleles 2 Questions

What is a gamete?

Give an example of a male gamete and a
female gamete.

Why are gametes different from every other
body cell?

Define dominant and recessive alleles.

A tall plant has alleles Tt. What is the
genotype and what is the phenotype of this
plant?



CB3d /SB3h Inheritance

Possible genotypes produced when two organisms breed
can also be shown in a Punnett square. Let T be the allele
for a tall offspring.

Parents have the genotype Tt (one dominant allele and one
recessive allele) so they are heterozygous dominant)

T is dominant so both parents are tall (phenotype is tall)

When gametes fuse, alleles can come together in different
combinations:
— 25% TT (genotype - homozygous dominant, phenotype - tall)
— 50% Tt (genotype - heterozygous dominant, phenotype - tall)
— 25% tt (genotype - homozygous recessive, phenotype - short)

So there’s a 3 in 4 chance (75%) that offspring will be T t
tall (TT, Tt, tT) |
And there’s a 1 in 4 chance (25%) that offspring will be T TT Tt
Short (tt) ' '

t | Tt tt




CB3d /SB3h Questions on Inheritance

Two parents Bb and Bb have four offspring: Bb,
BB, bb, Bb — which of these are heterozygous
offspring and which are homozygous offspring?

What percentage of offspring will exhibit the
characteristic if B is a dominant allele?

What percentage of the offspring will not exhibit
the characteristic?

How will the percentages of offspring be different
if the parents are BB and Bb?



CB3d/ SB3h Inheritance 2

Family pedigree charts show how a genetic disorder is

.T.
passed on in a family. Doctors can use family pedigree ‘ ‘
charts to work out the probability of a person inheriting 0
a genetic disorder from their parents — this is pedigree =
analysis. . @ . .

Carriers
Carriers are individuals who don’t have the disease themselves but can pass it
on to their offspring if their partner is also a carrier for the same disease:

e.g. a person who is Cc is a carrier for cystic fibrosis because they have a copy of
the faulty allele. They don’t have the disease, though, because cystic fibrosis is
recessive (both recessive alleles need to be present - cc)

If both parents are carriers (can find this out by genetic screening), doctors
can help couples decide whether to try for a baby or not.



CB3d/SB3h Questions on Inheritance 2

e W
e W
e W

ny would doctors use a pedigree chart?
nat is meant by a carrier?

Ny might you want genetic screening if you

wanted to have a baby?

If two people have the genotype Cc for cystic

fibrosis what is the chance that their offspring
will have the disease?



CB3e/ SB3j Gene Mutation

Each protein is made up of a different sequence (number and order) of amino acids.

This sequence affects the way the polypeptide chain folds up, giving the protein its specific 3D
shape. Some proteins form long fibrous molecules (e.g. keratin — found in human hair and
nails), and others have a round ‘globular’ shape (eg. insulin, haemoglobin, enzymes)

The shape helps the proteins with their function e.g. round haemoglobin helps it move around
the body easily. E.g. enzymes are specific to one reaction, and their shape determines which
reaction this is.

A mutation is a change in the sequence of bases in the genetic code of DNA. Some mutations
have no effect on the amino acid sequence so the shape of the protein is not affected. Other
mutations result in one amino acid being replaced by another so the protein folds up differently
so affects the shape and the way proteins work. E.g. Sickle cell anaemia — mutations in the gene
that produces haemoglobin causes red blood cells to become pointy, reducing the oxygen
carrying capabilities of the cell.

Healthy Sickle cell anaemia

~

Normal red blood cell Sickle red blood cell




CB3e / SB3j Questions on Gene Mutation

nat is a protein?
ny is the sequence of proteins significant?
ny is the shape of a protein important?

S £ ==

nat is a mutation?

Describe an example of a common mutation
of red blood cells.



CB3e / SB3j The Human Geno-"‘?‘f"*'f'- ;e_____ __

The human genome project (HGP) involved finding out the
sequence (order) of the 3 billion base pairs that make up"th’e

human genome. The HGP was a huge international effort, = -
involving scientists in 18 different countries and took 13 years.

Although each human being has a unique DNA sequence,
everyone has at least 99.9% of their DNA in common (it’s that
0.01% that makes us different)

What can we do with the results of the Human
Genome project?

e We can find new ways of finding genes that may increase
the risk of certain diseases

e We can find new treatments and cures for disorders e.g
gene therapy, where scientists try to replace faulty genes
that cause a disorder with normal genes

 We can find new ways of looking at changes in the
genome over time —i.e. how humans have evolved

 We can personalise medicines - find medicines that work
best (i.e. are more effective and have fewer side-effects)
on certain people




CB3e / SB3j.Questions — The Human Genome Project

e What is the HGP?
e How many base pairs make up a human being?

e How many countries worked together and for
now long?

 What percentage of our DNA is the same as
everyone else’s? What percentage is different?

 Name four applications of the results of the
Human genome project.



CB3f / SB3k Variation

Dizcontinuaus data Continwous dogta

Differences in characteristics are called variation =3 I

Discontinuous variation
— Take a fixed set of values — categories (e.g. shoe size, blood group, gender) : b
— Discontinuous variation is usually caused by instructions within cells and is called genetic variation
— Discontinuous data is plotted on a bar graph

Continuous variation:
— Values can be any number within a certain range (e.g. height, weight)

— Characteristics that show continuous variation are often controlled by both genes and the
environment...e.g.:

* You may inherit a tendency for being tall from parents
* But diet and lifestyle are also important in determining height

— Characteristics influenced by the environment (i.e. diet/disease/ lifestyle) are known as ‘acquired
characteristics’ — called ‘environmental variation’

— Continuous data can be plotted on a line graph (usually gives a normal distribution of values —i.e
bell-shaped curve)

Biodiversity
e Biodiversity is a measure of the total number of different species in an area

*  Areas of greater biodiversity (‘biodiversity hotspots’) need to be protected because they contain a large
variety of species within them



CB3f/ SB3k Questions on Variation

Define variation.

What is the difference between continuous
and discontinuous variation?

Give an example of each type of variation.

How would the graphs of continuous and
discontinuous data be different?

What is an area of biodiversity and why does
it need protecting?



CB4a / SB4a Evidence For Human Evolution

Evolution is a gradual change in the characteristics of a species over time. Scientists use
fossils to find out about human evolution. They work out how old the fossils are and put
them in age order.

Fossils are the preserved remains of organisms that lived on the Earth thousands or millions of years
ago

The collection of fossils from different periods in the Earth’s history is known as the ‘fossil record’
Studying the fossil record can reveal details about how organisms have changed gradually through time
(i.e. how they have evolved) and the fossil record is one of the strongest pieces of evidence in support
of evolution

Gaps in the fossil record:
The fossil record has many gaps in it for 3 main reasons
1. Soft-bodied organisms leave little fossil evidence behind because soft tissues decay (=>don’t
usually form fossils)
2. Sometimes, the hard parts of organisms are destroyed and fossils don’t form
3. Many fossils are buried deep in the earth and have not yet been found

The gaps in the fossil record mean that scientists must interpret how organisms changed over time from
incomplete data.

The same set of data could be interpreted differently by different scientists

As more fossils are discovered, scientists can predict more accurately how an organism may have looked
like and how it may have evolved

Computers can now be used to model how the organism may have looked



CB4a / SB4a Evidence For Human
Evolution Questions

What is a fossil

What do we call the collection of fossils from
different periods in the Earth’s history?

How does the fossil record support the theory
of evolution?

Suggest 3 reasons why the fossil record has
gaps in it.

Why is the gap in fossil records a problem for
scientists?



CB4a/SB4a Evidence for Human Evolution 2

tools

Evidence based on the Fossil Record and Stone

Ardi 4.4mya

No stone tools
found with Ardi

Lucy 3.2mya

No stone tools
found with Lucy

Key Fossils:

Leakey’s
discovery
1.6mya

Stone tools
found

Human like female fossil

Must have come from an extinct species
120cm tall, 50kg

Walked upright

Long arms and big toes for grabbing branches
Small brain

Human like female fossil

107cm tall

May not have walked completely upright
Small brain

Human like fossil

More closely related to modern humans so given the
genus ‘Homo’

Walked upright

Short with longer arms

Larger brain

Stone Tools

Initially stones
were blunt and
just used for
pounding.

Tools become
more
sophisticated
with cutting
edges for hunting
and preparing
meat.

Tools can be
dated by the
layers of rock
they are found
in. Assume they
are the same age
as the layer they
are found in.




CB4a/SB4a Evidence for Human Evolution

1.

W

What happened to arm length during
human evolution?

What happened to brain size during
human evolution?

How are stone tools dated?

What features of mtDNA makes it
suitable for providing evidence for
human evolution?

Ext: research human migration during
interglacial periods



CB4b/SB4b Darwin’s Theory

Darwin’s Theory of Evolution by Natural Selection

Organisms produce more offspring than the environment can support because there are limited resources
(e.g limited food and space) so competition for survival occurs between individuals. Most offspring die
before reaching adulthood.

Even within the same species, organisms show variation in their characteristics because individuals who are well
adapted to their environment are more likely to survive, breed, and pass on their genes to their offspring. Individuals
who are less well adapted to their environment are more likely to die and less likely to breed and pass on their genes to
their offspring.

Over generations, there is a gradual shift in the variation of characteristics in a species which is called evolution e.g. if
an environment becomes drier, then individuals better suited to drier conditions survive and over time, species
becomes better suited to the drier conditions. This process is called ‘survival of the fittest’ or ‘natural selection’

If the environment changes too rapidly and no individuals have adaptations that help them survive, they all die and the
species may become extinct

New evidence for Darwin’s theory

Resistant organisms: In the 1940s and 1950s, warfarin was used to poison rats, however, within 10 years, most
rats were resistant to warfarin (i.e rats were not affected by the poison)

Explanation using Darwin’s theory: As a result of variation, there were a few rats that by chance had always
been resistant to warfarin poison. As non-resistant rats were killed by poison, the only ones left to breed were
the warfarin resistant rats and their warfarin resistance characteristic was passed on to their offspring which
over some years made most rats became resistant.

Also DNA research has shown how characteristics are passed on to offspring and this also supports Darwin’s
theory of natural selection



http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwiZhYL7kPfLAhXLfRoKHbjfAccQjRwIBw&url=http://www.academiaobscura.com/tag/darwin/&bvm=bv.118443451,d.d2s&psig=AFQjCNHJXK5BEeCzPf-rS3RvW5neNrWosg&ust=1459933153235644

CB4b/SB4b Questions on Darwin’s
theory
Why is there competition for survival amongst
all living things?

What would make an organism more likely to
survive? What is natural selection?

How does the effect of warfarin on rats
support Darwin’s theory on evolution?

Name a modern analytical technique that
supports Darwin’s theory of natural selection.



CB4c/SB4d CLASSIFICATION

Classification is the sorting of organisms into groups based on their characteristics (i.e according to how

closely they are related to one another).
Organisms are classified into one of five ‘kingdoms’ with the following characteristics:

Animalia (the ‘animal kingdom’):

Multicellular (made of many cells)
Heterotrophic feeders - i.e animals get their food by eating and digesting other organisms

\ Kingdom |

* No cell walls, complex cell structure with nucleus
Plantae (the ‘plant kingdom’):
e Multicellular
e Autotrophic feeders —i.e plants make their own food through photosynthesis ;U \ Phyl“m e
e Cell walls made of cellulose (to provide support to plants) % 115
. © N2
* Complex cell structure with nucleus 2 =E
S @S
Té ..-_-.q.:_-
E g

Fungi:

Decreg,

Multicellular, cell walls not made of cellulose
e Saprophytic feeders —i.e fungi get their food from dead or decaying matter

Complex cell structure with nucleus

L]
Protoctista:
e unicellular (made of one cell), complex cell structure with nucleus

Prokaryotae:
unicellular, simple cell structure with no nucleus

Viruses do not have a kingdom because they are non-living and they’re not made up of cells and can

only exist inside ‘host’ cells (e.g inside human cells)
Living organisms in kingdoms are further divided into 6 sub-categories:Phylum, Class, Order, Family,

Genus and Species. As you progress from kingdom—>phylum—>class—>order—>family—>genus > species,
the groups are smaller and the organisms share more and more characteristics in common (i.e

The Classification o N
a o UST remember
Categories Include: Ki
ing

organisms are more and more alike).

Kingdom Phil
Phylum Came
Class Over
Order From

Family Great

Genus Spain

Species
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CB4c/SB4d Classification Questions

e Name the 5 kingdoms.

 Which 3 kingdoms are multicellular and what
does this mean?

e Give two differences between the animal and
plant kingdomes.

 What is the difference between heterotrophic,
autotrophic and saprophytic feeders?

 Which kingdom do viruses belong to?

e Name the next 6 sub-categories that Kingdoms
are divided into.



CB4c SB4d Classification 2

An organism’s scientific name has two Latin words, made
up of the genus and species name. Using the last two
sub-categories of classification is called the binomial
system.

e.g. humans are Homo Sapiens — ‘Homo' is the genus,
‘sapiens’ is the species

The binomial naming system is in Latin because common
names given to organisms can sometimes be misleading
and so that scientists all over the world can communicate
clearly, whatever their language.

e E.g robins in America (turdus migratorius) and robins in the UK
(erithacus rubecula) are different species



CB4c SB4d Classification 2 Questions

e What is the binomial system?

 Which two sub-categories are used for
naming?

e Give two reasons why scientists all over the
world use the binomial method of naming.

e A catis named Felis domestica — what is the
genus of the cat? What is the species?



Cb4d/SB4e Breeds and Varieties

Selective Breeding is Mating the Best Organisms fo Get Good Offspring

Organieme are to develop the aooording fo what we want from them.
Thig inoludes thinge like:

*  Maxdmurm yield of mest, milk, geain, eto. — thie means that food production e 2& high as
poseible, whioh Ie important for helping make sure there's snough food for people fo eaf.

+ Bood health and dizease reeletanos.

* In animale, other qualifies ke femperament, o o R 11
epeed, ferlilily. good mothering ekills, eho. Fj“ﬁ"’F" %Fi‘f
* In plante, other qualifies like f“‘ i ) @"* i 'E:q-’“ E:L

aHraotive flowers, nine emell, olo.

Thiz is the irvohleed in selective breeding:
1) The parent organieme with the best pharaoterdsfios are eelected,
e.g. the largeet eheep and rame — those with the higheet meat yield. ST a0,
2) They're Lred with each other. : i“:;;f;“h;:diu -
3) The bect of the offepring are seleoted and brad. - il ,.mﬂ; =

PRl gy

4] Thie prooess ie repeated over eeveral ganerations to develop the
degired fraife, e.g. fo produce eheep with very large meat yielde.

Belective breeding can aleo be ueed fo combine

1} Tall wheat plants have a good grain yleld but are eaelly damaged by wind and rain. 'IH-
Dwarf wheat plarts oan reslet wind and rain but have a lower graln yleld. \i[:'r :
g

2} Theese two types of wheat plant were orocs-bred, and the bect reculting wheat plarts
were oroes-bred again. Thie reculted in a new varlety of wheat
— dwarf wheat plante which oould resiet bad weather and had & high geain yield.




Cb4d/SB4e Breeds and Varieties

Questions
e Suggest two characteristics a cattle breeder
might select for.

e Explain how a goat that produces more milk
could be selectively bred.

e Suggest two characteristics a wheat breeder
might select .



another organism e.g production of human insulin by genetically modified bacteria
Scientists can insert the gene for human insulin into bacterial plasmid DNA in the following 5 s
1. Bacterial plasmid DNA is removed from bacteria
2. Bacterial plasmid DNA is cut by ‘cutting enzymes’
3. Bit of the chromosome that contains the human insulin gene is cut by ‘cutting enzymes’
4. The human insulin gene is stuck onto the bacterial plasmid DNA by ‘sticking enzymes’ )
5. The bacterial plasmid DNA, with the additional human insulin gene, is reinserted into bacteria _%

The genetically modified (GM) bacteria now have the human insulin gene in their plasmid DNA and can make
human insulin, which is used by people with diabetes. These bacteria are now called GMO — genetically

modified organisms

How was Human Insulin made in the past?

insulin used to be extracted from dead cattle and pigs and though similar is not the same as human
insulin. The supply of the animal insulin could be affected by animal diseases or by the numbers of

animals slaughtered.
What are the advantages of making Human insulin by GM Bacteria?:

* |tisthe same as the insulin produced by body cells in the pancreas
* |t can be used by vegans (vegans don’t eat any animal products and would not take animal insulin

* |t can be made in vast quantities and more cheaply

What are the disadvantages? O
Different bacteria produce insulin slightly differently and this may not suit everyone



Cb4d/SB4e Questions — Genetic Engineering

 What is genetic engineering?

 Describe the 5 stages for inserting the gene for
human insulin into bacterial DNA.

e Whatis a GMO?

e Give three advantages of using genetically
modified bacteria to make human insulin.

* Give one disadvantage.



CB4e / SB4g Genes In Agriculture and Medicine

1) The main problern with eelective breeding I that i reducee the gene pool — the number of different
allelee (forme of a gene) in a population. Thie is because the farmer keepe breeding from the "hag}"
animale or plante — whioh are all closely relaied. Thie ie known se inbresding.

2) Inbreeding can cauee health problems beoause there's more

ohanoa of the organieme developing harmful genetio disorders
when fhe gene pool Ie mited.

3) There oan aleo be eerious probleme i 8 new dieeaee appears,

benaues there's nof much varation in the population. All the
elook are clossly related to each ofher, 2o i one of them ie

going to be killed by a new dieeaee, the othere are sleo likely

to suoowmb fo #.

Pecpde in developed countries,
#g those in Eurcpe, terd to
oz more corcemed about the
noterdisl neks because food

There are ponoerns about growing genefioally modified orope...
1) Traneplarded genes may get out indo the emdronment. E.g. a herbioide
recietanoe gene may be picked up by weede, oreafing new 'superwesads'. #
shortages are not as big an
2) Another conoem ie that genstioally modified orope oould Saue as in developing countries
adversely affect food ohaine — or even human healih. SUSUIIUR IR

3) Bome people are againet genelio engineering alfogether. They worry that changing an organiem's
genes might oreate unforeseen problens — which would then get paszed on fo future generations.
For example, the long-term effects of exposure to Bf orope (eee above) aren't yet known.

d) Bome people eay thet growing genefioally modified orope will affect the number m

",

of weeds and flowers (and therefore wildlife) that ususlly live in and around the
orops — reduoing farmland biodiversity (number of epecies in an sooeyetem).

TRFLE b ™



CB4e / SB4g Genes In Agriculture and Medicine
Questions

* Give two disadvantages of selectively breeding
animals.

A farmer who grows green beans lives in an area
that experiences a lot of drought. Explain how he
could use selective breeding to improve the
chances of his bean plants surviving the droughts.

e Describe the advantages of making insulin using
genetically modified bacteria rather than
extracting it from animals.



CB5a/SB5a Health and Disease.

e The World Health Organization (WHO) is responsible for coordinating health
across the world. According to the organization good health means more than
simply feeling well: it is a state of ‘complete physical, social and mental wellbeing’.

Diseases Can be Communicable or Non-Communicahle

1) A pathogen ie a fype of mioroorganiem (miorobe) thet causee diesaes.
Types of pathogen include bacteria, viruese, profiste and fungl |

2) A pommunivable diesaee s a dicease that can spread befween organieme.
They are oaused by pathogene infecting the organiem, s.g. malaria ie paused

by & protiet, and fobaocoo mosaio dissase in plante ie caused by a virue.
Communicable dieesees are aleo known ag infectious dizeases.

3) Non-communicable disesese pannot be paegsed from one organiem to another, eg. oardiovasoular

ard reepiratory dieeaeee, canoere and disbetes. They generslly last for a long fime and progreee elowly.
They are often linked fo unhealthy lfeetyles '

Sometimes one disease can make it more likely that you will suffer from another
disease. For example :

1) HPY {human papillomavirue) ie a virue that can infect the reproductive eystem.
One way that it'e franemitted e in body fluids (eee next page), usually through sesual aotivity.
2) An infection by the virue doeen’t shveys cauee sympiome and often oleare up on e own within
a oouple of monthe.

3) However, gome HPY Infeptions oan oause pell phanges resulfing in the developrment of cerfain
fypee of canoer. We thought that nearly all oervioal cancer cases resull from HPY infections.




CB5a/SB5a Health and Disease Questions

e Use your own words to define the term ‘good
health’.

e Suggest how exercising regularly as part of a
group can improve your physical, social and
mental well being.

e Suggest why somebody infected with the HIV
virus is more likely than people without the
virus to get other communicable diseases.



CB5b/SB5b Non-communicable diseases

* Non- communicable diseases cannot be passed from one organism to
another e.g cancers, diabetes and malnutrition. They generally last for a
long time and progress slowly and are often linked to unhealthy lifestyle.

* Long-term effects of alcohol

1. Cirrhosis of the liver where Liver tissue is destroyed and the liver can’t function
properly which can lead to death.

2. Brain damage — alcohol affects learning and memory or can cause a blood clot in
the brain

3. Alcoholism -Alcohol can be addictive and people who
become dependent on alcohol are called alcoholics.

Genetic disorders such as sickle cell disease is another
type of non communicable disease. Genetic disorders
can be passed to offspring but not to any other person



CB5b/SB5b Non-communicable diseases questions

What is a non-communicable disease?
Explain how exercising can reduce the risk of obesity.

Explain why sickle cell disease is a non-
communicable disease.

Give one reason why too much alcohol over a long
time is a problem for each of the following.

A) the person who drinks it
B) their family

C) the society they live in.



CB5c/ SB5c Cardiovascular Disease

Cardiovascular Disease Affects The Heart and Blood Vessels

Cardiovaeoular dicesee (CVD) are dieeases fo do with your hear! and blood vessels. E.g.
1) High blood pressure and bote of LOL oholesiero| can lead to the builld up of fatty deposis ineide arteres,

narrowing them. Over fime the fatty depoeite harden, forming atheromass. CORODNARY HEART DISEASE
iz when the poronary arfedes have bote of gtheromas in them, which regiricis blood flow fo the heart.

2) Bometimes bite of atheromae oan break off or damage the blood veseel, oausing a blood olof.

of an artery by atheromae or blood olofe can lead fo 8 HEART ATTACK, where parl of
the pardiac musole ie deprived of cxygen. If the blookage oooure in the brain, i oan cause a STROKE.

There are Different Ways of Treating CVD

Healthy LHaetyle

1) Making phanges to your [Heelyls can reducse the dek of CVD, even i you've already had

probleme, e.g. a heart attack. People at rick of CVD are encouraged fo eat a healthy ai ;_;{E‘
_d]_lﬂ-jﬂﬁﬂlﬂhﬂhﬂiurul'ndfal' exgroige regularly and efop smoking. :

2) L’rl-'u‘l'-ula- ohangee can aleo help other forme of freatment (zee below) be more effsotive.




[omgs

CB5c/ SB5c Cardiovascular Disease

Sometimee drugs are needed to help gondrol the effecfs of CVD. For example:
1) Btafineg oan reduce the amount of cholesterol present in the bloodetream. This slowe down the

rate of faly deposite forming, reducing the riek of CVD. However, efatine can sometimes oause
negative eide effecte, e.g. aching mueclee. Bome of these side effects can be eedous, e.g. kidney

failure, liver damage and memory probleme.
2) Atiooagulants are druge which make blood olots legs likely fo form. However,
thie pan pause exoeesive bleeding if the pergon I hurl in an aooidend.

3] Antihyperfencives reduce blood pressure. This redupee the riek of atheromas
and blood olofe forming. Thelr eide effects can inolude headaches or fainting.

.__.

i the heart or blood veessle are then may be neaded.

1} Stente are that are inserted . They keep them =" nomnsl- {r j .~-:-m
} . making sure fo the nu:ll;]&u mI:lmlu. \ m"r 'y T 'E.Hi
are a way of the of a in people with | .-"4' =, . spect in cerire
. But , the artery oan again j;"i‘:‘tw‘a._, gy o artery shrinks,
ae efende can the artery and make row. buid up M:!°'1~'-i-'::'. ::r'ﬁﬁ:;r‘:r
The patiert sleo hae o take to etop on the etent. E,'- nass through
2} f part of a blood veseel is . & pieoe of J::,Tj:lh;:t HH _:,. e
faken from eleswhers can be used fo the blocked section. squashing x | # the centre
Thie e known =& \ fatty depasit :-.ﬁ.,e‘:‘f’ af the arury
) The whole heart can be replaoed with a . However, the new heart doee not sheraye etart
pmparbd The new heart can aleo be because the body's regognises
Hae’ ' have fo be taken to thie from happening, and theee can have

e.g. making you more vulnersble to infectione.
Heart eurgery ie a and, ae with all eurgeriee, there ie riek of . and

i



CB5d-e/SB5d-e Pathogens

Pathogens and disease

Diseases that are passed from an infected person to someone who is not infected are called
‘infectious diseases’. Infectious diseases are caused/spread by microorganisms called ‘pathogens’.

There are several types of pathogens - viruses, bacteria, fungi and protoctists.
Different pathogens spread different diseases:

* Infectious diseases like cholera, food poisoning, dysentery and tuberculosis (TB) are
caused by bacteria

* Infectious diseases like influenza (flu), mumps, measles and AIDS are caused by viruses
* Fungi cause athlete’s foot
* Protozoan (a type of protoctist) causes malaria

How pathogens pass between people

* Incontaminated water — e.g. cholera

e Airborne (e.g by coughing) — influenza virus and TB
e By exchange of body fluids — e.g. HIV

e By direct contact — e.g. athlete’s foot

e By food - e.g. salmonella bacteria

 Sometimes pathogens pass from one person to another by animal vectors (carriers) such as
by

— Mosquitoes — e.g anopheles mosquito can transfer protozoan into human blood causing
malaria

— Houseflies — can carry dysentery bacteria from human faeces to food




CB5d-e/SB5d-e Pathogens questions

Define infectious diseases.
Define pathogens.
Name 4 types of pathogen.

Give an example of a disease caused by a
Virus.

What type of pathogen causes athlete’s foot?

Give 5 ways that diseases can pass between
people.

What is a vector and name a disease passed
by one.



First Lines of Defence

CB5f/SB5i Physical and Chemical Barriers e

enzymes enzymes

—
mucus linings
traps dirt and

skin =
prevents—"
entry

Defence against invasion microbes
Animals, including humans, have many different ways to protect themselves against attack from pathogens: Stamach acid “good" gut
. . . . hurrﬂ?ul s bacteria out
Physical barriers stop pathogens getting into the body: s compete bad

e Skin —forms a protective barrier
e Mucus — traps microorganisms

e Cilia—these are tiny hairs in the windpipe that sweep mucus and microorganisms trapped in it upwards so they
can be coughed

out
Chemical defences help kill pathogens before they can harm us:
* Hydrochloric acid in the stomach kills harmful microorganisms in food
e Tears (liquid is produced by tear glands) contain enzymes called lysozymes that kill microorganisms

Using antiseptics

Chemical substances called antiseptics can kill pathogens outside the body and can be applied to the surface of an open wound to
help prevent pathogens getting into the wound and causing infection.

Using antibiotics

If pathogens enter the body (i.e they manage to pass through the body’s physical barriers), we need a way of killing them without
killing the patient.

Antibiotics are medicines that kill or prevent the growth of bacteria and some fungi. Antibiotics that only affect bacteria are called
antibacterials. Antibiotics that only affect fungi are called antifungals.

Antibiotics don’t kill viruses so can’t be used to treat diseases caused by viruses such as HIV (AIDS), influenza and mumps

Resistance

Individual bacteria in a population show variation and some will be naturally more resistant to an antibiotic (i.e will be killed much
more slowly)

When an antibiotic is first taken, the less resistant bacteria are killed first, the more resistant survive

. If person stops taking antibiotic too early then the resistant bacteria will live to reproduce and pass on their resistant genes
to their offspring forming a new colony of resistant bacteria

. Over time, misuse of antibiotics (i.e stopping treatment early) can lead to resistant strains of bacteria — e.g MRSA is resistant
to many antibiotics



CB5f/SB5i Physical and Chemical
Barriers Questions

Name 3 physical barriers the body has to defend itself
against pathogens.

Name two chemicals the body uses to defend itself.
Where would you use an antiseptic cream?

What is the difference between an antibiotic, an
antifungal and an antibacterial?

Which of the above would you take if you had a viral
infection? Why?

How does antibiotic resistance occur? Why is it
important to finish your course of antibiotics?



CB5g/SB5j The Immune System

Key definitions

e Antigen — chemicals on the surface of the pathogen
* Antibody — stick to the antigen to destroy it

* Lymphocyte — WBC that produces antibodies

The process of Immunisation

1. Harmless antigen or pathogen injected

2. Antigens trigger immune response and production of antibodies
3. Antigens trigger production of memory lymphocytes

Advantages of Immunisation Disadvantages of Immunisation

A child can become immune to a disease  Some mild symptoms of the disease
without suffering from it associated with immunisation

Reduces chances of long term harm from Swelling or redness around the injection
dangerous diseases e.g. measles, mumps, site
rubella

If enough children are immunised, the Allergic reaction
disease becomes so rare — herd immunity



CB5g/SB5j The Immune System Questions

. Explain the process of immunisation in three
bullet points.

. State an advantage of immunisation.

. State a disadvantage of immunisation.



CB5g/SB5j The Immune System 2

Edward Jenner
1. Noticed milk maids don’t get smallpox

2. Thought getting cowpox might stop you getting
smallpox

3. Took pus from a cowpox blister and rubbed it
into a boy - James Phipps aged 8

4. James Phipps showed a slight fever

5. Jenner repeated the process with smallpox
olister pus.

6. James did not get smallpox

7. Jenner used the cowpox virus to develop a
vaccine for the smallpox virus




CB5g/SB5j The Immune System 2
Questions

1. Describe Edward Jenner's work on vaccines in
4 bullet points.

2. Explain why being infected with cowpox
protects against smallpox infection.



CB5g/SB5j The Immune System 3

The role of memory

lymphocytes

1. Remain in blood after
primary infection.

2. Should the same
pathogen return, the
memory lymphocytes
produce antibodies
more quickly and
reduce chances of
showing symptomes.

3. Thisis called the
secondary immune
response.

Monoclonal Antibody Production

Antigen injected into mouse.

Mouse make lymphocytes that produce
specific antibodies

B lymphocyte fused with tumour cells to
form hybridoma

Hybridoma divides and makes
antibodies which can be isolated



CB5g/SB5j The Immune System 3
Questions

. What is an antigen?
. What is an antibody?

. Describe the role of Memory Lymphocytes in
the secondary immune response.



CB5h/SB5k Antibiotics

o
p—

1) Anfibictice are chemioale that kill bacteria without killing your own body celle. Many are
' produned nafurally by fungl and other microbes, a.g‘ p-ar:lnlln le made by a fype of mould.
Pharmaoeufioal oompaniee oan grow them on a large eoale in a lab and extraot the antibiofics.

: 2] They're very useful for clearing up bacterial infectione that your SUEEY LK -""-mlﬂ' te.
E body ie having frouble with, however they don't kill viruses. - T"‘EI_’::I’;;T I:::.:. o n:lpfuf E
E 3) Bome baoteria are naturally recietant to (not killed by) certain ~ — oo rrten :

antibiotios Micues of antiblotice (e.g. dootore overpreecribing them or patients
nod finishing & oouree) hae inoreaeed the rafe of development of resicland efraine. MRBA
(the hoepital "superbug’) e the beet-known example of an anfibiotio-resistant etrain.

A major problem with using antibiotics is that many kinds of bacteria are evolving
resistance , so they are no longer harmed by the antibiotic.
New antibiotics and other medicines must be developed to help control infection.

New drugs developed to treat any kind of disease need to be thoroughly tested before
they can be used to make sure they are safe and they work. New drugs first go through
preclinical trials which involve testing on animals.

After the drug has been tested on animals, It’s tested on humans. This is known as a
clinical trial.



CB5h/SB5k Antibiotics Questions

e Explain why antibiotics have no affect on
diseases such as HIV and flu.

 Why are many bacteria becoming resistant to
antibiotics and what can we do to solve this

problem?

e Describe two stages of pre-clinical testing in
the development of a new antibiotic.



CB6a/SB6a PHOTOSYNTHESIS \~

Plants (like animals) have mitochondria in their cells where
respiration occurs

Plants need a supply of glucose for respiration

In animals/humans, glucose needed for respiration is obtained from
the breakdown of starch

Unlike animals/humans, plants can make their own glucose by a
process called photosynthesis

Equation for photosynthesis: -
g

Carbon Dioxide + Water —® Glucose + Oxygen
Chlorophyll

6C0O, + 6H,0 —» CsH;05+ 60,

Photosynthesis takes place inside plant cell organelles called
chloroplasts which contain a green substance called chlorophyll.
Plants cannot photosynthesise without chloroplasts.

Chlorophyll absorbs sunlight, transferring the light energy into
stored chemical energy in glucose

L2



CB6a/SB6a Questions on
Photosynthesis

Where does plant respiration occur?

Where does the glucose come from for plants
to respire?

Write the word equation for photosynthesis
Write the symbol equation for photosynthesis
In which organelle does photosynthesis occur?

Name the chemical that absorbs sunlight



CB6a.SB6a Leaf adaptatim;::;z

Water

The leaf is the main plant organ in which photosynthesis occurs.

Leaves are adapted for photosynthesis as they have chloroplasts containing a substance called
chlorophyll that absorbs light energy from the sun. They are broad and flat and therefore have a
large surface area to absorb as much light energy as possible

On the underside of leaves are microscopic pores called stomata where gases enter and leave the
leaf

Air spaces inside the leaf give cells a large surface area to volume ratio — this makes gas exchange
through the stomata more efficient

Gas exchange in the stomata

Carbon dioxide from the atmosphere diffuses into the leaf through the stomata and is used for
photosynthesis

Oxygen produced in photosynthesis diffuses from the inside of the leaf into the atmosphere
through the stomata

Water produced during respiration can evaporate from cells inside a leaf and diffuse out of the
leaf through the stomata

Stomata open when it’s light to allow gas exchange and photosynthesis to occur . They close when
it’s dark
When it’s dark, stomata close for two reasons:

1. Photosynthesis can’t take place so gas exchange is not necessary

2.Plants still respire in the dark, producing water vapour

Note:

— Water needed for photosynthesis does NOT enter through stomata in the leaf - it is taken up in the roots
and then transported to the leaf in xylem vessels



CB6a/SB6a Questions on Leaf
Adaptations

What is the main organ of a plant?

How is the shape of a leaf adapted for
photosynthesis?

What is the name of the small pores on the
underside of a leaf that allow gases in and out?

What do air spaces inside the |leaf do?
Which gas diffuses into a leaf and why?

Name two substances that leave the leaf —one by
diffusion and one by evaporation.

Give two reasons why stomata close in the dark



CB6b/SB6b Factors That Affect Photosynthesis

The higher the rate of photosynthesis, the more glucose that is produced
which is needed by plants for growth and for respiration

Factors affecting the rate of photosynthesis:
— Concentration of carbon dioxide
— Water
— Light intensity

— Temperature (reactions in photosynthesis are catalysed by enzymes so can
also affect the rate of photosynthesis)

 The process of photosynthesis is affected by several factors so the
maximum rate at which the process can occur is controlled by the factor
that is in the shortest supply — the factor in the shortest supply is the
‘limiting factor’ that will slow the rate of photosynthesis down

e If a plant has lots of carbon dioxide, lots of water, is grown at the right
temperature but in dim light, it will photosynthesise slowly. Increasing the
concentration of carbon dioxide, or giving the plant more water or
increasing the temperature will not increase the rate of photosynthesis

 Onlyincreasing the amount of light will increase the rate of
photosynthesis so in this example, the limiting factor is light (intensity)

s ™

Rate of photosynthesis
Rate of photosynthe:
Rate of photosynthesis

rd
Light intensity Carbon dioxide Temperature
N L=



CB6b/SB6b Factors That Affect
Photosynthesis Questions

e Name four factors that can affect the rate of
photosynthesis

 Explain how temperature can affect the rate of
photosynthesis.

e What do we call the factor that is in shortest
supply?



Rate of photosynthesis

Rate of photosynthesis

CB6b/SB6b Factors That Affect Photosynthesis

s
v
X
LY
i
Light intensity
e High temperature
i C
B
J.l': P A ~  Low lemperatune

Light infensity

At point x:
Increasing light intensity increases the rate of
photosynthesis...
initially light intensity is the limiting factor

At point y:
Increasing light intensity doesn’t increase the rate
of photosynthesis any further...
another factor (i.e temperature, CO, concentration
or water) must be limiting the rate of
photosynthesis at this point

At point A — increasing the temperature increases the rate
of photosynthesis (the high temperature trace at the same
light intensity has a much higher rate of
photosynthesis)the limiting factor at this point is
temperature

At point B —increasing the light intensity increases the
rate of photosynthesis - the limiting factor at this point is
light intensity

At point C — increasing temperature or light intensity
doesn’t increase the rate of photosynthesis any further -
the limiting factor at this point could either be the amount
of carbon dioxide or water available to the plant



Rate of photosynthesis

CB6b/SB6b Factors That Affect
Photosynthesis

Explain this graph.
What happens when light
intensity increases?

Light intensity

N Why doesn’t the rate of
photosynthesis keep
Increasing



CB6¢c/SB6c Absorbing Water & Minerals

Roots anchor plants to the ground and take up water and mineral salts
from the soil
‘Root hair cells’ are present in roots — they have adaptations that help
them take up water and minerals from the soil:

1. long, thin extensions that reach into the surrounding soil

2. large surface area
Water enters the root hair cells by osmosis

Water moves from a region of higher water concentration to a region of
lower water concentration until ‘equilibrium’ is reached (i.e until the
water concentration is the same on both sides)

Sucrose molecules can’t move because they are too big to fit through the

gaps in the partially permeable membrane

particles . .
.. = Wy Cellulose
. It cell wall



http://m.everythingmaths.co.za/science/lifesciences/grade-10/05-support-and-transport-systems-in-plants/05-support-and-transport-systems-in-plants-02.cnxmlplus

CB6¢c/SB6c Absorbing Water & Minerals
Questions

Describe two jobs of plant roots.
Describe two adaptations of root hair cells

Name the process that allows water to move
into root hair cells.

Why don’t sucrose molecules move into the
root hair cell?



CB6c&d/SB6c&d Transpiration &
Translocation

The concentration of minerals dissolved in soil water is very low compared to the concentration
of minerals in the plant. For minerals dissolved in soil water to be taken up into the roots, they
must be absorbed against the concentration gradient —from an area of lower concentration to an
area of higher concentration. Minerals help plants grow.

e Absorbing particles against a concentration gradient is called ‘active transport’ which requires
energy from respiration.

+
+
+
+

+ +
++ o+
+ +
+

Low

+++ L+
z4++ ¥+
++ +
++++++

i
=

 Once water and minerals have entered the root cells, they need to get to all the plant’s
tissues

e Xylem vessels transport the water needed for photosynthesis and dissolved mineral salts

 The glucose made in the leaves during photosynthesis is converted to sucrose and then
transported to other parts of the plant by phloem vessels and then stored as starch

* Transpiration is the pulling up of water against gravity, so water produced during respiration
can evaporate from cells inside a leaf and diffuse out of the leaf through the stomata

* Asthe rate of evaporation of water increases the faster the loss of water through stomata
and the increased rate of transpiration

e Rate of evaporation determines the rate of transpiration, warm and windy day, the rate of
transpiration will be greater



CB6c&d/SB6c&d Transpiration &
Translocation Questions

What is the process called where plants
absorb minerals against a concentration
gradient?

What do xylem vessels do?

What happens to the glucose made during
photosynthesis?

What is transpiration?

What effect will a wet day have on the rate of
transpiration? What about a windy day?



CB7a/SB7a Hormones

Hormones are Chemical Messengers Sent in the Blood

1) Hormonee are chemioale produoed in varioue glands called andoorine glands.

Thees glande make up your endoorine eyetem.
2) Hormonee are released directly inde the blood. The blood then carres them to other Pﬂ"i'ﬂ of the body.

3) They travel all over the body but they only affect parfioulsr pelle in parfioular plaoee. o o

= Hl.lr.'11:-'1:-: ArE 5'.;:...- -

d) The sffected celle are oalled farget pells — they have the right repepdors fo respond = compared to perses -~

to that hormone. An organ that oontaine farget oelle ie called a larget organ. - impulses but they have =
= |I:II1!.||-'|'-|.:|5|:,'|-'!-E vifests.

Examples of target organs are : Pituitary gland, thyroid,
adrenals, ovaries, testes and pancreas.

Some endocrine glands are the target organs for other
organs. For example sex hormones oestrogen and
testosterone which are released by reproductive organs
stimulate the release of growth hormone.



CB7a/SB7a Hormones Questions
e Define the term hormone.

e Name one hormone produced in a) the
ovaries b) the pancreas.

e Describe how a change in the amount of sex
hormones produced during puberty leads to
an increase in growth. Include the names of
endocrine glands and target organs for the
hormones you mention.



CB7b/ SB7b Hormonal Control of Metabolic
Rate

Hormone Release can be Affected by Negative Feedback

Your body oan pontrol the levele of hormonee (and other subetanoee) in the blood ueing negative feedback

euctems. When the body detecte that the level of a substanoe hae gone above or below the normal level,
it triggers & responee to bring the level baok fo normal again. Here'e an example of just that:

Pijreipnatninign,
Trigtescing = made -

Thyroxine Regulates Metabolism

Ehs 'IJ"."'|:||:I gland from =
1) ie 8 hormone relessed by the (found In the reck). - =re ‘:1" arvere I"*T =
2) I playe an importand role in regulating — the epeed at which chemical reactions in the
body ooour. We important for loade of prooeeees in the body, such as and .
3) Thyrowdne ie released in reepones fo b incress Brom
(T2H), which i released from the .E prcvriraal caferind
4) A keepe the amount of thy . B ]r'“#ﬂ_"xm of TRH wkibitad
in the blood at the right level — when the level of I'hgmﬂra e /! ", |
in the blood s , the eeoretion of ' b PR
the pHuitary gland is ‘I1ia: reduces the amound 'I:I-‘F s Breas \5\ rd
thyroxine relessed from the l'hgruid gland eo the level in the = | momal debected |
blood baok towsards normal, TRH Mlﬁth

Hirri



CB7b/ SB7b Hormonal Control of Metabolic Rate

Adrenaline Prepares you for ‘Fight or Flight’
1) Adrenaling ie 8 hormone releseed by the adrenal glands (which are looated juet shove the kidneye).

2) Adrenaline prepares the body for "fight or flight' — in other worde, standing your ground in the face o
a threat (e.g. a predator) or bravely running away. If doee this by aotivaling procesees that inoreaes

the eupply of woygen and gluooes fo oelle. For example:

*  Adrenaline binds fo epecifio regeptors In the heart. Thie oauees the heart musole to
ponfract more frequently and with more foroe, eo heart rate and blood preesure inoreaes.

* Thig inoreaese blood flow fo the musolee, eo the celle reoaive

more maygen and gliooee for inoreased ration. . ::.-‘F,;
*  Adrenaline aleo binde fo receptore in the llver. This caueee the liver fo @"’"I,-E-F o
break down He glyoogen stores o release glunose. @ _Jf;'?i*"’_:«'“’
* This inoreaeee the blood gluoose level, eo thers's mors Y, ,; ;

gluooes in the blood to be traneported fo the oelle. A

3) When your brain detects a efressful situation, # esnde nervous impulses fo the adrenal glands,
which respond by eecreting adrenaling. Thie gete the body ready for action.

e Define the term negative feedback .

e Explain why negative feedback is important when controlling thyroxine
release.

 Describe how negative feedback can control the amount of hormone in the
blood



CB7c/ SB7c The Menstrual Cycle
The menstrual cycle is controlled by the hormones OESTROGEN

and PROGSTERONE.

There are 4 stages to the

menstrual cycle:

1. Menstruation

2. Uterus lining thickens

3. Ovulation

4. Uterus lining continues to
thicken

\uteal phag,,

If fertilisation occurs, the uterus lining is maintained because the corpus
luteum continues to secrete progesterone. The developing embryo embeds in

the lining and continues to grow.




CB7c/ SB7c The Menstrual Cycle Questions

Name the two main hormones in the
menstrual cycle.

What are the four stages of the menstrual
cycle in order.

Explain what happens to the uterus lining if
fertilisation occurs.



CB7d/ SB7d Hormones and The Menstrual Cycle

Progesterone is released after
ovulation. Increasing
progesterone inhibits FSH and
LH. Falling progesterone triggers
menstruation.

Anterior

Increasing oestrogen stimulates
LH production and causes
thickening of the uterus wall.
Falling oestrogen also stimulates
menstruation.

FSH stimulates the growth and
maturation of the follicle

A surge of LH triggers ovulation.

Ovarian
cycle

Owvarian pituitary Body
hormones

Uterine
cycle

temp.

hormones

cOQM= @ »

Growing follicle Ovulation Corpus luteum Corpus albicans

v j\——_\—

1

1

| Luteinizing hormone (LH)
1

1

i
'| Follicle-stimulating

1 hormone (FSH

| N\ hermone (FsH)

Menses

Menses

-s—— Follicular phase —p= | -%——— Luteal phase ——p=

0 days 14 days 28 days

Owvulation

Another example of negative feedback




CB7d/ SB7d Hormones and The Menstrual Cycle
Questions

1. High levels of which hormone inhibits LH
and FSH?

What does oestrogen do?

What triggers menstruation?

What does FSH do?

Which hormone triggers ovulation?

A



CB7e/SB7e Control of Blood Glucose

Maintaining constant conditions inside the body is
called Homeostatis.

Controlling blood glucose levels
High blood glucose levels cause tiredness and can damage organs. Low blood glucose levels may cause unconsciousness so the
concentration of glucose in the blood must be kept constant.
1. When blood glucose levels are too high (often after a meal):
The pancreas releases a hormone called insulin
Insulin is transported in the blood to the liver
Insulin causes liver cells to take glucose out of the blood and convert it into glycogen (glycogen acts as a store of glucose
because it can be converted back into glucose when required) and blood glucose concentration decreases (back to normal)
2. When blood glucose levels are too low:
The pancreas releases a hormone called glucagon
Glucagon is transported in the blood to the liver
Glucagon causes liver cells to convert glycogen back into glucose, which is then released into the blood and blood glucose
concentration increases (back to normal)
The control of blood glucose concentration is an example of a negative feedback mechanism
DIABETES
People who have a disease called diabetes can’t control their blood glucose levels very well . There are two types of
diabetes.
Type 1 diabetes: develops in young people because the pancreas does not produce any insulin. When blood glucose
concentrations rise, the body cannot bring them back down to normal.
Controlling type 1 diabetes:
1. Inject insulin into fat layer beneath skin (this helps diabetics keep their blood glucose levels low)
2. Exercise reduces blood glucose levels, eating fatty foods increases blood glucose levels and by exercising
more and not eating fatty foods, diabetics can keep their blood glucose levels low so they don’t need to inject as
much insulin



CB7e/SB7e Control of Blood Glucose Questions

 What symptoms occur if blood sugar is too
high/too low?

 What does the pancreas release and what
does this do to glucose?

e Explain why people with type 1 diabetes must
control their blood glucose concentration with
injections of insulin.



CB7f/SB7f Type 2 Diabetes

Type 2 diabetes: In this type of diabetes, the pancreas releases insulin as
normal however, the cells in a person’s body don’t respond

well to insulin (they become ‘resistant’ to insulin) and the person has
problems in reducing blood sugar levels.

Unlike Type 1 diabetes which develops in young people, Type 2 diabetes
usually develops in adulthood.

e Risk factors for Type 2 diabetes: high fat diets, lack of exercise, age

e QObesity and Body Mass Index (BMI):Doctors class people as obese if
they have a BMI of over 30. BMI gives an

estimate of how healthy a person’s mass is for their height. Correlation
between high BMI and suffering Type 2 diabetes
Equation: BMI = weight in kilograms / (height in metres)?

Unlike Type 1 diabetics, sufferers of Type 2 diabetes don’t need to inject
themselves with insulin as they control type 2 diabetes by changing diet
(eating less fatty/sugary foods) and by exercising more



CB7f/SB7f Type 2 Diabetes Questions

e What is the difference between
type 1 and type 2 diabetes?

* What are the risk factors for type 2
diabetes?

 Write down the equation for
calculating BMI.



CB8a/SB8a Efficient transport and exchange

e Alveoli —tiny air sacs in the lungs — are surrounded by capillaries. Here is where gas exchange
takes place.

 The oxygen diffuses into the blood, waste carbon dioxide diffuses out.

 Arriving at the alveoli blood has a high concentration of carbon dioxide and a low
concentration of oxygen.

 The carbon dioxide is removed by exhaling.

Breathing in allows oxygen to enter the alveoli. P —

out of alveolus

Elood low in carbon dioxide
high im cxygen

blood fow in ooygen,

high in carbon dicxde Q&\

Blood leaving the alveoli has a high concentration of

oxygen and a low concentration of carbon dioxide.

camon dioxide diffuses

from Bleod to be exhaled oaygen diffuses into blood

Oxygen is transported in the blood stream via red uspisod ceis
oxygen |s transparted arcund Dody
by red blood cells

blood cells to be used for respiration



CB8a/SB8a Efficient transport and exchange
guestions

What are alveoli?

What is the difference between the blood
arriving and leaving at the alveoli?

How is carbon dioxide removed from the
nlood?

How does oxygen reach the cell?



CB8b/SB8c The Circulatory System

Blood vessels

Blood vessels are tube-shaped organs that carry blood. There are 3 types of blood
vessels — arteries, veins and capillaries

1. Arteries (e.g pulmonary artery, aorta): Carry blood away from the heart. Blood in
arteries has to be under high pressure so that it can reach all parts of the body
(remember that aorta carries blood all around the body. Arteries have strong, thick
walls

2. Veins (e.g pulmonary vein, vena cava):Carry blood towards the heart. Blood in veins
travels slowly and at low pressure, veins have thin walls and a wide, large passage for
blood to flow

3. Capillaries Allow substances to diffuse into and out of the blood, into or out of
cells and tissues. e.g oxygen diffuses from alveoli into capillaries in the lungs.
To help substances diffuse faster, capillaries have very thin walls (only one cell thick).
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CB8b/SB8c The Circulatory System 2

Blood contains many different types of specialised cells which all have
differentiated from blood stem cells.

Blood is made up of four main components plasma, red blood cells, white
blood cells and platelets.

Plasma (55% of the blood): Plasma is the liquid (yellow colour) component of
the blood which transports dissolved substances such as carbon dioxide, food
substances and hormones

Red blood cells (45% of the blood): Red blood cells contain the red pigment
haemoglobin and when blood in capillaries arrives at the alveoli it contains
little oxygen.

The oxygen diffuses from the alveoli into the red blood cells. In the red blood
cells, oxygen combines with haemoglobin to form oxyhaemoglobin (the
reaction is reversible <)

haemoglobin + oxygen € oxyhaemoglobin

Oxyhaemoglobin is then transported in red blood cells around the body to
supply cells with oxygen for respiration. The oxyhaemoglobin splits, releasing
oxygen (which diffuses into respiring cells) and haemoglobin.

When red blood cells return to the alveoli, haemoglobin will be able to
combine with new oxygen molecules and the process repeats



CB8b/SB8c The Circulatory System 3

Structure of RBC: Biconcave disc (cells have a dimple on both sides) which
gives red blood cells a large surface area to volume ratio for oxygen to diffuse
into and out of the cell.

No nucleus which means there’s more room for more haemoglobin so they
can transport more oxygen.

Structure of White blood cells (less than 1% of blood): All white blood cells
have a nucleus. White blood cells are bigger than red blood cells

Function: White blood cells are part of the body’s defence against - part of
the body’s ‘immune system’. Some white blood cells make antibodies which
are proteins that bind to microorganisms that cause disease and destroy
them. Other white blood cells destroy any foreign cells that enter the body by
surrounding (‘engulfing’) them

Platelets (less than 1% of blood): Platelets are tiny fragments of cells that
don’t have nuclei.

Function: Platelets are important in clotting blood

(when blood vessels are damaged). The clot dries out & | ,‘,
and forms a scab — this stops microorganisms getting P

into the body %&

Red blood Platelets White blood
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CB8b/SB8c The Circulatory System Questions

List the parts of the circulatory system.
Name the 3 types of blood vessels.
Why do arteries have thick walls?
Name the 4 components of blood.

Explain how oxygen is transported from the
lungs to a tissue.



CB8c/SB8d The Heart

Blood coming in from the tissues is low in oxygen (‘deoxygenated’). It is pumped by the heart to the lungs where haemoglobin in red blood cells picks
up oxygen (i.e combines to form oxyhaemoglobin). Blood becomes ‘oxygenated’ and returns to the heart where it is then pumped around the body to
the tissues and cells (so that cells receive oxygen for use in aerobic respiration).

The heart is split into right and left sides and each side is split into two chambers — an atrium (atria — plural) and a ventricle. A vein called the vena cava
brings deoxygenated blood from the body into the right atrium.

1. Superior vena cava — brings deoxygenated blood from upper body Inferior vena cava — brings deoxygenated blood from lower body. When the right
atrium is full, muscles in the wall contract and the deoxygenated blood is forced through valves and into the right ventricle. Valves are flaps of tissue
that prevent backflow of blood (i.e stop blood going back the way it came).Valves are prevented from turning inside out by tendons

2. When the right ventricle is full of blood, the muscles of the ventricle wall contract and the blood is forced out through some other valves into the
pulmonary artery. The pulmonary artery carries the deoxygenated blood to the lungs where it picks up oxygen and becomes oxygenated

3. The oxygenated blood is then transported by the pulmonary vein from the lungs to the left atrium of the heart . When the left atrium is full, it
contracts and the oxygenated blood is forced through valves and into the left ventricle

4. Once the left ventricle is full of oxygenated blood, the muscles of the ventricle wall contract and the blood is forced out through some other valves
into an artery called the ‘aorta’

5.The aorta carries oxygenated blood around the body (supplying cells with oxygen for use in aerobic respiration).The cycle then repeats (note: right
and left sides of the heart work together, filling and emptying at the same time — it’s just easier to explain the way the heart works by looking at each
side in turn)

a. the left ventricle has to pump blood all the way round the body and the right ventricle only has to pump blood to the lungs therefore the
muscle wall of the left ventricle is thicker than the muscle wall of the right ventricle
b. The septum separates the right and left sides of the heart. The right side of the heart (i.e the right atrium and right ventricle) pumps

deoxygenated blood. The left side of the heart (i.e .the left atrium and the left ventricle) pumps oxygenated blood. the septum is important so
that the oxygenated blood and deoxygenated blood do not mix

Afria fill with blood Contraction of afria pumps blood into  Contraction of ventricles pumps
the ventricles. blood into aorta and pulmonary
artery



CB8c/SB8d The Heart Questions

What does deoxygenated and oxygenated
mean?

Where does deoxygenated blood come from?
Describe the structure of the heart.

Why are the walls of the heart different
thicknesses?

What does the septum do?



CB8d/SB8e Cellular Respiration

During exercise:
— Muscles need more energy, they need more oxygen from respiration
— 1. the heart rate and stroke volume increase
— 2. breathing rate also increases to get more oxygen into the blood

— So more oxygen reaches muscle cells faster - faster rate of aerobic respiration in muscle cells - more
energy released

During intense exercise:
— even increasing the heart rate and the breathing rate isn’t enough to supply oxygen to muscle cells
quickly enough
— anaerobic (less oxygen) respiration starts to happen (alongside aerobic respiration) inside muscle
cells
Anaerobic respiration breaks down glucose without using oxygen - the waste product lactic acid is produced:
— glucose =2 lactic acid (+ energy released)
— The energy released by anaerobic respiration is less than the energy released by aerobic respiration

The waste lactic acid produced during anaerobic respiration is toxic so it must be broken down as soon as
possible. Lactic acid can be broken down by oxygen into carbon dioxide and water:

(the lactic acid can’t be broken down during exercise because there isn’t enough oxygen available - it is being
used in aerobic respiration)

The extra oxygen needed after exercise is obtained by keeping the breathing rate and the heart rate high for a
few minutes after exercise (i.e until the oxygen has broken down all the lactic acid produced into carbon
dioxide and water). The time taken for the heart rate to return to normal (resting) after exercise is the ‘recovery
time’ - the faster the recovery time, the fitter the person



CB8d/SB8e Cellular Respiration and questions

All cells in the body need energy — it is released by respiration. More active cells need more energy eg. muscles
contract having to cause movement — this requires a lot of energy.

This process occurs inside organelles called mitochondria.
Aerobic respiration just means with a plentiful supply of oxygen.

glucose + oxygen —»3::‘::;332 + water

CH.-O, 60. # CcO. H.O

This released energy can be used by the cells.

Glucose and oxygen are carried around the body by blood. Blood also takes away waste carbon dioxide.
Diffusion is how these substances move into the blood, through a 1-cell-thick wall.

Respiring cells produce lots of carbon dioxide — less than in the blood — so it diffuses down a concentration
gradient into the bloodstream.

They use up oxygen and glucose so they diffuse down the concentration gradient into the cells from the blood.

Where does respiration occur?

How does the respiratory system change during exercise?

State an advantage of anaerobic respiration for humans.

Design a table to compare and contrast aerobic and anaerobic respiration.



CB9a/SB9a Ecosystems

Organisms in an area depend on each other for food —i.e. they are interdependent.
As the numbers of one organism change, other organisms are affected.

e.g. when there’s lots of prey, predators have more food so they increase in
number

As predator number goes up, more prey are eaten so they decrease in number

The relationships between the organisms are always changing - this is called a dynamic
relationship.

Food Chains

Some organisms are producers and make their own food e.g. green plants which use
photosynthesis. The rest get their food from other organisms.

Primary consumers get their energy by eating plants so are herbivores.

Secondary consumers get their energy by eating primary consumers so are
carnivores

Food chains show what eats what and arrows show the direction
of energy flow.

e.g red oat grass (producer)—>zebra (primary consumer)—>lion (secondary
consumer) which indicates zebras eat red oat grass. Lions eat zebras.

Organisms that feed at the same level in a food chain are in the same trophic level:
Producers are at the first trophic level, primary consumers are at the second trophic
level and secondary consumers are at the third trophic level

Food chains from a habitat can be joined together into a food web, which shows the
feeding relationships between the different organisms



e What does interdependent mean?

e What is a producer and where does it get its
energy from?

e What are primary and secondary consumers?

* In a food web or chain what does the direction
of the arrow show?



CB9b/SB9c Abiotic Factors and Communities

 The distribution of organisms is affected by abiotic
factors such as temperature, moisture level, light
intensity and soil pH. For example in a playing field
you might find that daisies are more common in the
open than under trees, because there is more light
available in the open.

e Substance that cause harm in the environment are
pollutants and cause pollution. Many human
activities release pollutants. These can poison
organisms or cause harm to organisms in other ways
(such as plastics being eaten by fish).



CB9b/SB9c Abiotic Factors and

Communities Questions
Name 2 abiotic factors that are related to
climate.

What is pollution?
How can pollution affect communities?

Explain why drought in an ecosystem can have
long term effects on the animals in a
community.



CB9c¢/SB9d Biotic Factors and Communities

Biotic factors are the organisms in an ecosystem that
affect other living organisms. They can also affect the
distribution of organisms, for example: a)the availability
of food — if there’s a bumper year for berries then the
population of blackbirds might increase because there
will be enough food for all of them, so they are more
likely to survive and reproduce.

b) Number of predators — if the number of lions
(predator) decreases then the number of gazelles
(prey) might increase because fewer of them will be
eaten by the lions.



CB9¢/SB9d Biotic Factors and Communities
Questions

e What are biotic factors?

 Describe how preventing the introduction of
harmful species can help protect biodiversity.

 Explain how the reintroduction of wolves to
Yellowstone changed abiotic and biotic factors
in that ecosystem.

* Describe how introducing a new predator can
affect a community through predation and
competition.



CB9d/SB9f PARASITES AND MUTUALISTS

In most feeding relationships, a predator kills and eats its prey and then moves to find more prey. But not all
feeding relationships are like this.

Parasitism is a feeding relationship in which two organisms live together, with one feeding off (and benefiting
from) the other. Parasites are usually harmful to their hosts.

* The organism doing the feeding is called the parasite
e The organism which the parasite feeds on is called the host

Examples of parasites:
* Headlice and fleas — live outside their host, feeding off their blood

e Tapeworms — live inside vertebrate intestines. Absorb nutrients from the host’s gut and can cause
the host to lose a lot of weight

* Mistletoe — grows its roots into the veins of the host tree and can absorb water and mineral salts
from it

Mutualism is a relationship where both organisms benefit — this is called mutualism.

e.g in Africa, oxpeckers eat parasitic insects (e.g fleas) that live on the skin of large herbivores so oxpeckers feed
themselves,

and at the same time remove fleas from herbivores and both organisms benefit

e.g cleaner fish eat dead skin and parasites from the skin of larger fish, such as sharks so both organisms
benefit

Some organisms live in mutualistic relationships inside other organisms

* e.g. nitrogen-fixing bacteria live inside legumes and turn nitrogen in the air into nitrogen compounds. The
bacteria are protected from the environment and obtain chemical substances from the plant that they use
as food. The plant gets nitrogen compounds (nitrates) from the bacteria, which it uses for growth and both
the bacteria and the plant benefit from the relationship.

* e.g.chemosynthetic bacteria live in the gut of giant tubeworms which provide a place for bacteria to live,
and offer protection. Bacteria convert sulfur compounds into food that tapeworms can eat so both
tubeworms and bacteria benefit from the relationship



CB9d/SB9f Parasitism and Mutualism Questions

Describe a parasitic feeding relationship.
Give an example of a parasitic relationship.

How is mutualism different from a parasitic
relationship?

Give an example of a mutualistic feeding
relationship and explain why it is mutual.

Give two examples of a mutualistic
relationship which occurs inside another living
organism.



CB9e/SB9g Biodiversity and Humans

Human Interactions have an Impact on Ecosystems

1) Like all organieme, we humane have an impacf on the goopystems around ue.
2) The human population on Earth hae grown hugely in the laet couple of centuries and ke pondinuing fo ree.
3) When the Earih'e population was much emaller, the Impacte of human acfivity were usually

gmall and Jopal. Nowadays though, our actione can have a far more wideepread effect.

4) Our inoreasing population pute preseurs on the environmend, as we fake land and reeocurces to survive.

5) But people around fhe world are sleo demanding a higher etandard of living (and g0 demand lwouries

to make life more oomfortable — oare, emartphones, eto.). 8o we uee more raw materials (e.g. ofl to
make plaetice), but we aleo uee more energy for the manufacturing proceeees. Thie all meane we're

taking nvore and more recouroes from the ervironment rmore and more quiokly.

8) Unforfunately, mamy rew materiale are being usad up guicker than they're being replaced.
8o i we oarry on like we are, one day we're going fo run ouf.

7) Ae we produoe and coneume thinge we oreste waete (e.g. waete chemioale), and if we

don't handle # properly it can oause harmful pollufion like sewage and toxic gases.
8) Theee hurnan actione are negatively impaofing both looal biodivereily (the number of epecies in the
looal area) and globsl biodivereity (the number of epecies on the entire planet) in many ways...

The process of eutrophication

Fertiliser is added to crops

Heavy rain washes fertiliser off

Nitrates and phosphates contained within fertiliser are washed into streams or rivers

This encourages number of algae in water to increase (‘algal bloom’)

These surface plants block sunlight which is needed for photosynthesis hence plants in the water die
and stop producing oxygen through photosynthesis.

Bacteria, which decompose dead plants in the water, reproduce quickly (i.e increase in number
quickly) and use up more and more oxygen for respiration.

So oxygen concentration in the water decreases so larger fish in water die due to a lack of oxygen




CB9e/SB9g Biodiversity and Humans Questions

Give two reasons why farming fish maybe a
better way to provide food for humans than
catching wild fish.

How does adding fertiliser benefit a farmers
field?

Explain how eutrophication can change
biodiversity in an aquatic eco system.

Give two ways in which introduced species
can affect a native food web.



CB9f/SB9h Preserving biodiversity

Maintaining Biodiversily Benefifs Wildlife and Humans

Coneervation echemee help maintain biodhversity by protecting epecies (zee previous pags).
Ae well se benefitfing andangered species they often help humane too:

1)

2)

3)

4)

Proteoting the human food eupphy — over-fiehing hae greatly reduced fish efooke in the world's
ooeant. Coneervalion programmes oan engurs that future generafione will have fish o eaf.
Enguring minimal damage to food chaing — W one species beoomee exlinot i will affeot all

the organieme that feed on and are eaten by that epecies, eo the whole food phain ke sffected.
Thie means coneerving one speoles may help ofhere fo survive.

Providing fulure medioines — many of the medicines we use foday come from plande.
Undieooverad plant epecies may contain new medioingl chemicalz. W these plande are allowed fo
beoome extinot, perhape fhrough rainforest destruotion, we oould miss out on valuable medioinee.
Providing Indusetrial materdale and fusls — plard and animal epecles are iImolved in the produotion

of Indusidal materale (e.g. wood, paper, adhesives and ofle) and eome fuels. If theee epecies
become extinot thess important reeources may becorme more diffioult fo produce.




CB9f/SB9h Preserving biodiversity Questions

Give two reasons why tigers need
conservation.

Explain why tiger conservation is being carried
out in captivity.

Suggest what else needs to be done before
tigers can be returned to the wild.

Explain why maintaining biodiversity by
setting up conservation schemes can be
challenging



CB9g/SB9j The Water Cycle

Materials are Constantly Recycled in an Ecosystem

1) An ecosystem is all the organisms living in an area, as well as all the
non-living conditions, e.g. soil quality, availability of water, temperature.

2) Materials are recycled through both the living (biotic) and non-living (abiotic) components of ecosystems:

1) Living things are made of elements they take from the environment.
For example, plants take in carbon, hydrogen, oxygen, nitrogen, etc.

2)

3)

through waste products or when organisms die, ready to be used by

new plants and put back into the food chain.
4)

(usually microorganisms) — that's how the elements get put back into the soil.

...and Water is Recycled in the Water Cycle

1
2)
3)

4)

The Sun makes water evaporate from the land and sea, turning it into water vapour.

Water also evaporates from plants via franspiration

The warm water vapour is carried upwards (as warm air rises).
When it gets higher up it cools and condenses to form clouds.
Water falls from the clouds as precipitation (usually rain, but
sometimes snow or hail) and is returned to the land and sea.

The flow of fresh water through the water cycle allows
nutrients to be transported to different ecosystems.

They turn these elements into the complex compounds (carbohydrates, proteins and fats)
that make up living organisms. These are taken in by animals when they eat the plants.

The elements are recuycled — they return to the environment (e.g. soil or air)

Dead organisms and waste products decay because they're broken down by decomposers

condensation

/ﬁ transpiratiop
f g 3

R e e =

precipitation _




CB9g/SB9j The Water Cycle questions

Name 3 substances that cycle through
ecosystems.

The water cycle depends on the ability of
water to change state with temperature.
ldentify the processes that cause water to
change state in the water cycle.

Explain how distillation can produce safe
drinking water from dirty water.

Describe how water is cycled in the water
cycle



CB9h/SB9k The Carbon Cycle

Removing carbon dioxide from the atmosphere by photosynthesis in plants

. Carbon dioxide may diffuse into a leaf to take part in photosynthesis and removes carbon dioxide from the
atmosphere.

. Photosynthesis equation: carbon dioxide + water = glucose + oxygen
Carbon compounds formed by photosynthesis (glucose) are passed along food chains

. When primary consumers eat plants (producers), the carbon compounds contained within plants are passed along
the food chain to the primary consumers

. When the primary consumers are eaten, the carbon compounds are in turn passed on to the secondary
consumers.

Returning Carbon Dioxide to the Atmosphere

1.Respiration in plants and animals: Both plants and animals use glucose for
respiration.

This process releases carbon dioxide back into the atmosphere.

Respiration equation: glucose + oxygen = carbon dioxide + water

2.Decomposition of dead animals/plants by microorganisms: When plants and animals die, decomposers (e.g fungi,
bacteria) break down the carbon-containing compounds in their bodies and use them for respiration which in turn
produces carbon dioxide.

3. Burning of fossil fuels: Sometimes dead plants or animals are buried quickly underground before decomposer
organisms can begin decaying them. Over millions of years, dead organisms underground are changed by heat and
pressure into fossil fuels which contain carbon compounds so when they burn, carbon dioxide is released into the
atmosphere.




CB9h/SB9k The Carbon Cycle Questions

What is the word equation for photosynthesis?

What effect does photosynthesis have on the amount
of carbon dioxide in the air?

How do the carbon compounds made in plants
(glucose) pass into primary and secondary consumers?

How does respiration return carbon dioxide back into
the atmosphere? What is the word equation for
respiration?

How do decomposers increase the level of carbon
dioxide in the air?

Name one other way that carbon dioxide is added to
the atmosphere.



make proteins, which are important for growth.

CB9i/SB9| The Nitrogen Cycle

Nitrogen (in the form of nitrates) is useful to both plants and animals as it is used to

How plants obtain nitrogen (they can’t get it directly from the air as it is too
unreactive)

Decomposers that feed on dead plants and animals break down some of the

How nitrogen is returned to the atmosphere
When soils are lacking in oxygen, e.g when
waterlogged the denitrifying bacteria will convert

proteins and urea into ammonia

Nitrifying bacteria in the soil convert ammonia into nitrates
There are also nitrogen fixing bacteria in the soil that can directly ‘fix’ nitrogen gas

into nitrates

Plants can then absorb the nitrates through their roots, and use them for growth
(when plants are eaten by consumers, the nitrogen in the plants get passed on).

nitrates back into nitrogen gas.

- an
o / excration
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=0 | bacteria
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CB9i/SB9I The Nitrogen Cycle Questions

Why do plants need the nitrogen in nitrates?

How do decomposers and nitrifying bacteria
increase the amount of nitrogen available for
plants?

How are nitrogen fixing bacteria different
from nitrifying bacteria?

How do the nitrates in plants get passed to
primary and secondary consumers?

How is nitrogen returned to the atmosphere
by denitrifying bacteria?
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